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POPULATION STUDIES
Paper — 11

Note : This paper contains fifty (50) objective type questions of two (2) marks each. All

questions are compulsory.

Critically low sex ratio at birth in some of the states of India is an indicator of
(1) Excess female mortality after birth

(2) Prenatal sex selection and abortion

(3) Change in genetic composition

(4) All of the above

Who among the following proposed Mobility Field Theory in the area of migration ?
(1) Todoro (2) Lee
(3) Ravenstein (4) S. Mukherji

Arrange the following bigger states in descending order (top to bottom) in terms of natural
growth rate as shown in the SRS Bulletin September — 2014.

i. Bihar ii.  Uttar Pradesh
iii. Rajasthan iv. Madhya Pradesh
Codes :

Q) iv i i i

(2 i i v

(3) i v i i

4) i i iv il

Choose the correct combination of sources of fertility data from the following :
I. Vital Registration system

ii.  The National Periodic Census

iii.  National Sample Survey

iv. National Family Health Survey

Codes :

(@) i i il
2 i i v
3) i i v
4) v i i

Assertion (A) : Substantial public investment in health and education is key to achieve
sustainable human development.

Reason (R) : Rising inequality due to low public investment slowers advances in
human development.

Codes :

(1) (A)istrue, (R) is true and (R) may be possible explanation of (A).

(2) (A)istrue, (R) is true, but (R) is not correct explanation of (A).

(3) (A)istrue, (R) is false.

(4) (A)isfalse, (R) is true.
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TAGEAT AT
PrEE ]|
W 0 ueAT | v= (50) Sg-fashedd e & | s IR S AT (2) 3T € | et e e |

1. 9RAH FS T § ST % 999 W fodrsqes € 9 0 form s foaenr dehde ¢ 2
(1) S % 9% 3Ty Aleenst & 9o
(2) WEE-gd folT =g+ we M
(3)  3TATE WieR=HT (ST FHHiTer) § aied=

(4) SWisd Tt
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(3) Y= (4) U gEst
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i fEwr i, SR
ii. ot iv. HET U
ETE
A v Qi i
@ i i i v
@) Qi v i
@ i 0 v i

4, TIEATEd § | S 81T SRSl & B % Tal GAT Pl T ;
i, TETeYUT YSTehOT FuTe
ii. S ITEdT ST
iii. I AT TERIr
iv. U URER W Teer
ETE
a i i i
@) i i v
@) i i v
4 iv i i

5. fuwed (A) : @ ud e | st qesie et fews ama o w5 et g |
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ETE

(1) (A) T T, (R) Ft el & 3T (R), (A) I Gifad = & Gebell & |
(2) (A)TEE, (R) 9 W&l &, W(R), (A) F Tel AR Tél & |

(3) (A) T g, wifr (R) e € |

(4) (A) T e, W(R) Tl |



6.  Assertion (A) : Education, healthcare, social protection and legal empowerment enable
poor people to participate in national growth.
Reason (R) : Growth is influenced by greater equity among various population groups.
Codes :

(1) (A)istrue, (R) is true and (R) may be possible explanation of (A).
(2) (A)istrue, (R) is true, but (R) is not correct explanation of (A).
(3) (A)istrue, (R) is false.

(4) (A)isfalse, (R) is true.

7. Who among the following is acclaimed as the “Father of Demography” ?
(1) John Graunt (2) Sir William Petty
(3) Edmund Halley (4) Thomas R. Malthus

8.  According to Peterson’s Typology of Migration match the following items in List — I with

items in List— 11 :
List—1 List— 11
(Relation) (Migratory Force)

a. Nature and Man i.  Migration Policy
b. State and Man ii.  Ecological Push
c. Man and his norms iii.  Social Momentum
d. Collective Behaviour iv. Higher Aspirations
Codes :

a b c d
@ i i iv il
2 i [ TR\,
(3) i v ii
4) v i i i

9. What are the non-sampling errors in demographic research ? Select the correct
combination.

I. Data specification being inadequate and inconsistent with respect to the objective of
the survey.

ii.  Errors due to location of units and actual measurement of characteristics.
iii.  Faulty demarcation of sampling units.
iv.  Lack of trained and qualified investigators and inadequate supervising staff.

Codes :

1) i i i
(2 i i v
3) i i v
4) i v
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@ i i v i
2 i i i v
@) i v i
@ v i i
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@ i i v
@ i Qi v
@ i i v




10. Which of the following is not a Sustainable Development Goal declared by the United
Nations ?
(1) Reduce by half the proportion of people whose income is less than US $ 1 (per day).
(2) Ensue healthy lives and promote well being for all at all the ages.
(3) Ensure availability and sustainable management of water and sanitation for all.
(4) Take urgent action to combat climate change and its impact.

11.  Which among the following constitute under nutrition in human beings ?
i. Muscle wasting

ii.  Stunting

iii.  Obesity

iv.  Underweight

Codes :

1) i i i

2 i iv i

3 i i iv

4 v i i

12. Match the items given List-1 with List-11 in the area of Nutrition and Health :

List -1 List—11
(Disease) (Deficiency)

a. Kwashiorkor i.  Protein

b. Marasmus ii. Proteins &

Calories

c. Anaemia iii. Iron

d. Goitre iv. lodine

Codes :
a b c d

1) i i i v

2 i i i v

3) i i v i

(4) i i i v

13.  Among the below listed measures of marriage, which one is the most sensitive ?
(1) Percent females married before age of 18 years.
(2) Percent females married in the age group 15 — 19.
(3) Percent females married in the age group 20 — 24.
(4) Singulate means age at marriage.

14. Arrange the following states of India by decreasing order “percent of urban population” in

2011:

a. Kerala b. Maharashtra
c.  Tamil Nadu d.  Gujarat
Codes :

(1) Kerala, Maharashtra, Tamil Nadu, Gujarat
(2) Maharashtra, Tamil Nadu, Kerala, Gujarat
(3) Tamil Nadu, Maharashtra, Kerala, Gujarat
(4) Tamil Nadu, Kerala, Maharashtra, Gujrat
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10. FfeiEd § @ S 91 I T FRT S Uk Tod [ ded Tal § 2
(1) 37 AR T S MY qh =M, T 37 | 3Tt Sor (Uidfe) T F ¢ |
(2) w=A ¥ AR G ok Tt AR & TR e gHvEd w1 3R SAE HedmT Hi
T
(3) T =Tl & TeTT STeT 3R o=y i SUCTSHAT Ue o Wee GHreed e |

(4) SToramg UREd 1 HeHEel i & fod 3ffaeid HaH 3T |

11. ffefed § @ B 97 § 37 96T Hd € 2

i gE-uE o uaer & ii. T Bl T
iii. W iv. HHeSHT
ETE
Q i i i
@ i v il
@) i Qi v
@ v i il
12.  OIST 3R W& o & § Gal-1 S T&1 S Galt-11 i 7T o T GHIAT HiTT
e - | =t - 1
() ()
a. FERNARSR i, Wed
b. IR & ii.  UISH U ARt
C. TEIEIHAT i, oliE o
d. ToFlE (MeeR) iv. smEited
ETE
a b c d
@ i i i v
@ i i i v
3) i i v i
@) Qi i i v

13. foaw & A T T SUEt § | HE A1 U Fais Hagsie § 2
(1) 18 99 =l 3 ¥ Teel foanted Aieamsti &t Hfeerd
(2) 15-19 99 % U GYE § Toaed Alecrst H1 A
(3) 20-24 99 % 37 g § Toaed Aiearst HT U
(4) foeme =i THe 3T 2y

14, FfeIREd SRA % T S 2011 H IR SHEEAT o 3TAR 9 7 T SFaed Hie ;
A b. weRTZ

a. z
c. dHeHg d. Ra
ETE

(1) e, TR, AT, TR

(2) TERTZ, AT, e, TR

(3) drHEHIS, HeRT, e, TR

(4) T, e, TERTE, TR




15.

16.

17.

Match items in List — I with items in List — Il given below :
List—1 List— 11
a.  Non-sampling errors i.  Myer’s Index

b. Index of preference or ii.  Demographic Surveys
avoidance of digits 0 and 5

c. Index of digital preference iii.  United Nations
d. Joint Score Index iv. Whipple’s Index
Codes :
a b c d
@ iioivoi il
(2 i R \VAR T
(3 i v i i
4 i i i v

Match the demographic indicators shown in List — | with their sources shown in List— 11 :

List—1 List— 11

a. Immunization coverage i. Census
b. Unmet need ii. SRS
c. No. of women in reproductive ages iii. Sample surveys
d. Couple protection rate iv. Programme statistics
Codes :

a b c d
@ v odioivoii
2 ioavo 0 il
3 i v ii
4 im0 iv

Match items of List — I with the items in List — Il given below :

List—1 List— 11

a. g, I.  Number of years lived in age x to x + 1
b. |, il.  Survivors to age x
c. L, iii. Probability of deaths between age x to age x + 1
d. m, iv. age specific death rate
Codes :

a b c d
@ i TR
2 v i i v
(3) i i iV
4) v i i



15.

16.

17.

Gl — | f B]T B G — || S G879 GHTA HIf

= - | = - 1

a. TG 9o Ffeat i AEd gusiE
b, SREA AT 0 3T 5 F 37T & STATA BT GABE i, SHHITEIDHET Fo&ToT
c. TefSeat stadn =1 gasis i, HgE U
d. TgH @R GaHH iv. ST gaehis
ETE

a b c d
@ iivo0 i
@ i i v il
@) Qi v i i
4) (I | | I | 1Y
Tl — | | IMT T Geheehl bl Gt — || T ST 7T 37 Al o Trer GAferd 1

=t - | = - 1

a. eI oSt i, SR
b. STEvFHAT I gid T & ii. THARTH
C. UGS SU H HEeTel & W& jii. AT GoeToT
d. s e iv. SHREISHT it
ET

a b c d
@) v i v i
@ i v i il
(3 i ivoi ii
@) Qi i i v
Tt — | 6 H&T B G — || H T HET o 91 GAferd i
= - | =it - 1
a. g, I SU x | x+1 H SHifad oot s @
b. 1, Qi 3H x H SR (Fegaw)
c. L, iii. SWx¥EIMx+ 1% aa gcg B GHEE
d. m,  iv. SHERETE
ET

a b c d
@ aiooi v
2 iv i i 0\
3 i i iv
4 iv i i i



18. Match the mathematical models shown in List — | with the formulae shown in List — Il :

List—1 List— 11
a.  Arithmetic growth rate model i. P-P,
tP,

b. Geometric growth rate model ii. P.=Py(1+rt)
c. Exponential growth rate model iii. P,=Py(1+n)
d. Decadal growth rate model iv. P, =P, et
Codes :

a b c d
@ iioivoodii i
2 i i v i
(3) i i v
4) i i v

19. Arrange the following States of India in descending order of Infant Mortality Rate (latest

SRS figures) :
a. UP
b. Bihar
c.  Odisha
d.  Madhya Pradesh
Codes :

(1) Odisha, UP, Bihar, Madhya Pradesh
(2) Madhya Pradesh, Odisha, UP, Bihar
(3) Odisha, Madhya Pradesh, Bihar, UP
(4) Madhya Pradesh, Odisha, Bihar, UP

20. Match the Demographic Indicators listed in List — I with their sources shown in List - 11 :

List—1 List— 11

a. Couple Protection Rate i.  Census
b. Sex Ratio of Children ages 0 — 6 years ii. SRS
c.  Crude birth rate iii. Sample surveys
d. Contraceptive prevalence rate iv. Programme Statistics
Codes :

a b c d
@ v i i il
(2) i i iV
(3 v i i i
4 v i

21. For how many years a country should not have a case of Polio transmission before WHO
declares it Polio-free ?

(1) 2years
(2) 3years
(3) 4years
(4) 5years
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18.

19.

20.

21.

e — | 3 v T T Heew H g — || T T g (e 3 e g S

el - | et - 11
a. 3 gig 3T Atew i. P,-P,
tPO
b. I gy 3 Aied ii. P, =P, (L+rt)
C. U gy (THRAUHFIREE TeT) X HSe . P, =Py (1 +1)!
d. v gfg s gfea iv. P, =p,et
ET
a b c d
@ i v il i
@ i i v i
@ i i i v
@ i i i v
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aafwaa%ﬁq:

a. SR

b. fwr

c.  amgmm

d "Eww

(1) TS, W wRY, [BR, 7 wew
(2) e TR, SR, W 0ew, oer
(3) euEwm, e W, R, ST W
(4) = TR, ISR, f9eR, ST wew

gt — | § U MU SHifeenid Hehdeh S gt — || 7 I T 37 St 6 [ Gferd Hire :

=t - | = - 1

a. IO T i, SO
b. 0-6 I F W & oAl H o7 I . THE.IRTA.
C. SWIYd 71 X (S 79 ) iii. AT FERIOT
d. ™ FRiYE vEeH iv. ISR TR
ETE

a b c d
@ v i i i
() @i i i v
(3) v @i i i
4 v i i i

faver w@area Ted FRT Wifcral-ga =ifud fhT STH & Uee et 391 § fohee g as wiferat %
HEROT (Tferat ZrATHS) ol U 9t e el e =y 2

(1) 2a9

(2) 3@9

(3) 4=9

(4) s



22.

23.

24.

25.

26.

217.

Which one among the following is not Economic Indicator of Human Development ?
(1) Percentage of Population working in non-agricultural sector.

(2) Percentage of population with access to sanitation.

(3) Rate of inflation.

(4) Total foreign exchange reserve.

As per the National Health Accounts Report of the Government of India, arrange
following sources of ‘Health Financing’ in descending (from higher to lower) order :

I. Central Government

ii.  State Government

iii.  Households

iv. External Aid

Codes :

@) i i i v
(2 i i i iv
(3) i i iv i
4) diiodi v i

Which one of the following is not a risk factor in health insurance schemes ?
(1) Adverse Selection of Clients

(2) Cream Skimming

(3) Moral hazard

(4) Declination

Which one among the following is not social indicator of human development ?
(1) Enrolment ratio of boys in school.

(2) Percentage of population with access to sanitation.

(3) Maternal Mortality Ratio

(4) Female Literacy

The concept of ‘Community Monitoring” was introduced in which of the following
programme ?

(1) Reproductive and Child Health Programme

(2) Child Survival and Safe Motherhood Programme

(3) National Rural Health Mission

(4) Universal Immunization Programme

Which one of the following is not existing in the category of Health Insurance in the
country ?

(1) Community health insurance
(2) Private health insurance
(3) Compulsory health insurance
(4) Social health insurance

Paper-I1 12 J-15-16



22.

23.

24,

25.

26.

27.

TTfetiad & § i 91 Ush JHe foehd i 3Tk Hehereh T8l & 2
(1) TR-FHO & T SRR STHEEAT N U9

(2) TSl A% T TEH ATl STHEEAT T UTdwr

(3) TETERIfT 3T

(4) o forewit g

IR TWHR Dl AL @A ol {Uie % S8R W foauur @ weA-a) & Aidl o
TERET S (SR W =eR) | =Hafed ST

i R

iii. UEwR

iv. STl |erdn

ET

@ i i i v

@ i i i v

@ i 0 v i

@ i i v

fefefad | A @1 Uk AFE ST FS1e § U SiiEH R T8 ¢ 2
(1) et F Ufdper =TT

(2) TS HAT (hIH WhH)

(3) A @axn

(4) TR

fAfafead § ¥ 9 91 9 o 61 AT o T8l € 2
(1) ¥beT | ISR 1 USRI ST

(2) Tor=IAT GiauTeT S UET ATl Gt S uidaw

(3) UG gg AU

(4) wfeeT HERar

Frefeiad | & 59 T H “HTg1feh URaieior i STaERoM ST T8 2
(1) TSRS Ue STe] W HIsHH

(2) TS SifaddT Ud W-HTged kY

(3) TR THiOT TR e

(4) AT HiTatieRToT sy

frfafaa & @ =9 @1, <91 & W S S § & ST € 2
(1) TR @ s

(2) ATt T s

(3) e T S

(4) ST T S



28.

29.

30.

31.

32.

33.

Arrange the following fertility indicators from higher to lower order as proposed by John
Bongaarts :

I. Observed fertility

ii.  Net potential fertility

iii.  Natural fertility

iv.  Gross potential fertility

Codes :

Q) i i i v
2 i ivo i i
(3) i di v i
(4) i i i iv

Sample size to be drawn from the large Universe does not depend on which among the

following ?

(1) The significance level one is planning to use.

(2) The difference between population and sample value that one is reasonably certain
of detecting from sample.

(3) Population size

(4) Population variance

Which one among the following sources provide infant mortality rate at district level for
selected states ?

(1) District Level Household and Facility Survey (DLHS)

(2) Annual Health Survey (AHS)

(3) India Human Development Survey (IHDS)

(4) National Family Health Surveys (NFHS)

Which of the following is Type-I Error (o) in test of hypothesis ?
(1) Probability of accepting hypothesis (H,) where it is true.

(2) Probability of accepting hypothesis (H,) when it is false.
(3) Probability of rejecting hypothesis (H,)when it is true.
(4) Probability of rejecting hypothesis (H;) when it is false.

Which of the following was not covered under the ICPD ‘Programme of Action’ ?
(1) Universal access to family planning, reproductive and sexual health services.
(2) Global partnerships for population and development.

(3) Environmental issues associated with population change.

(4) Gender equality and empowerment of women.

Which one of the following is not true about Pradhan Mantri Swasthya Suraksha Yojana

(PMSSY) ?

(1) The scheme approved in 2006.

(2) The scheme aims at establishing AIIMS like institutions and upgradation of existing
medical colleges.

(3) The scheme aims at correcting imbalances in the availability of affordable health
care facilities in different parts of country.

(4) The scheme aims at covering vulnerable and deprived section of society under
‘Universal Health Coverage’ scheme.

Paper-I1 14 J-15-16



28.

29.

30.

31.

32.

33.

TeATeiEd ST &THaT Febdehl i Seak § FHaT oA H =aierd Hiteie, S o ST a-med =

i THatd U

ii. T gHIad I
iii. VTR USTHA

iv. e HIfad U
ETE

O (A
@) i v i i
@) i di v
@) i i 0 v

T2 P (FE) B F Mot ST el AT SR FEfetad § 9 e w1 iR 8 #ar € 2
(1) “TafFiHe~g daer-a=" & TN &t AT §

(2) SHEE R THAT U % ST B Gg 3R, ST A F I T H TR T F SV §
(3) STHEEAT FI 3R

(4) SHEET GEE giEeT

feAteiEd & | i 91 & =ad Todi & el T W ] gog 33 U8 el § 2
(1) T5eT Wi =Xe] Ue GiorT Fasor (.0, U=.0H.)

(2) T TR AT (TUA.TH.)

(3) R A e FaeToT (3.0 S1.ud.)

(4) T IRER W FaE (TH.0%,. 09,09,

TfatEd 5 9 I | Moo= (STeUraiad) & uRigior | 29-1 I (o) € 2
(1) s (H,y), 51 98 Tl 8, STeh! W i Bl e

(2) WERTH (H,), ST € T &, 3! Wlghd e I I

(3) TERETT (H,y), 51 TE el &, ITH! STEAHA BT bl HIel

(4) WERTT (H,), ST 7€ T &, Sl ST i b G

Tetetad & 9 foraeh! 3T FATE. ‘W 31t TR’ H SMTHeT el {ohaT 74T 7 2
(1) URAR FaH, gTecRs (Rureieed) T dF @ Qareli qe i ugd
(2) SHEE R faem & fou afves arieRy

(3) SHEEAT URE ¥ g JATERUT e ahet

(4) AT (Sie) THMAT 31X AleeTrstl 1 TPl

T T GRET AT (PMSSY) & 9 B 0 | & i 9 o1d T el ¢

(1) 9 JSH B 2006 H THI MHeAr o |

(2) TT FASHT HT 32T NG IRADT ST T (AIIMS) S Gt Ty ST e
ST AISHT ottt B TIAT AT § |

(3) TS o LT I & [T & H W Hare wH IueTeddl i STEIA Y AT ol
T T HaTt 3UeTed T & |

(4) IS 1 AT FHIE &0 FHeRsT” o ded THNT P HASIT A red qah o AT ¢ |
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34.

35.

36.

37.

Match items of List — | with items of List — Il given below :

List— 1 List— 11
ls I.  Number of person-years lived between age 10 to 15.
Lis ii.  Probability of surviving from age 10 to 15.
L1o

c. I iii. Number of years expected to live by those who survived to age 25.
1o

d. Ty iv. Number of years lived by those who survived to age 25.
Iy

Codes :

a b c d

D v i i i

(2 i i Y

(3 iv i i ii

4) i v

According to the SRS Bulletin of September 2014, the Infant Mortality Rate for the rural
areas of India falls in which of the following categories (per lakh live births) ?

(1) 36-38
2) 39-41
(3) 42-44
(4) 45-47

According to the SRS Bulletin September-2014, the crude birth rate of India is, (per
thousand population)

1) 174
) 194
(3) 214
4) 234

Arrange the following four large States of India in descending order (high to low) in terms
of the crude death rates provided as per the SRS Bulletin Septemebr 2014 :

. Kerala

ii.  Punjab

iii. West Bengal

iv.  Tamil Nadu
Codes :

@ v i i ii
2 i i v i
3) i iv i i
4) i i i v



34.

35.

36.

37.

G- &l gi-1| F GAfT H | e S FerddT ¥ T&t 3T Faq
=it - | = - 1
10 ¥ 15 T Sifad 1€ ST a9 bl &

s .

a.
b. Lyg ii. 109 15 % s Siferd e i Hereaar
I‘10
c. g i, 25 WA SHiad & o Sl % S % HeAI Sted aut st e
o

d. Ty iv. 2599 T SHifad & @ 6 Sted ot i e

F:

a b c d
1 v i i i
(2 i i i iv
3 iv i i iii
(4) i i v

foder 2014 % TH IR UTH (SRS) Feiferd & AR 9RT o AH0T &30 § 1] Jog X oeahe (Wi
A Sifad =) A g A fpg e A g 2

(1) 36-38

2) 39-41

(3) 42-44

4) 4547

fdeR 2014 & TH 3R TH (SRS) Feife & AR WRT i TENT T 3T (Ul &R TGN
fopat & 2

(1) 17.4

2) 19.4

(3) 214

4) 23.4

faeR 2014 % TH 31X TH (SRS) Failed o AR ST Jog X & T39 § 4 9R a8 T4
T AR (3TF W T9=7) 567 | TSIT | e i Terdal H el 3T T 99 Y

T

i, o

iii. 9 e

iv. aeETg

@ iv i i i
@ i i v
@ i v i i
@ i i i v



38.

39.

40.

41.

42.

43.

From which Census year onwards, India introduced the concept of urban agglomeration ?
(1) 1971 (2) 1981
(3) 1991 (4) 2001

Which among the following is not an economic determinant of development ?
(1) Human Resources

(2) Capital Resources

(3) Technological Progress

(4) Attitude of people and value system in society

Assertion (A) : The eligible couples in the age group 15 — 49 in the country have nearly
universal knowledge about different contraceptives.

Reason (R) : One of the important reasons for the same may be the vigorous and
effective campaign of Family Welfare activities in the country.

Codes :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A).

(2) Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(3 (A)istrue and (R) is false.

(4) (A)is false and (R) is true.

Which amongst the following services to senior citizen’s are not covered under the
‘National Programme for the Health Care of Elderly’ (NPHCE) ?
(1) Management of illness among elderly.

(2) Health Manpower Development for Geriatric Services

(3) Social and Economic support to elderly population.

(4) Medical rehabilitation and therapeutic intervention.

The model devised by Kingsley Davis and Judith Blake classifies the “intermediate
variables through which social factors of all stages of child bearing, which among the
following does not include under factors affecting exposure to intercourse (intercourse
variable) ?

(1) Age of entry into sexual union.

(2) Permanent celibacy, proportion of women never having sexual union.

(3) Part of the reproductive period spent after or between unions.

(4) Use or no-use of contraception.

Gender stereotyping in work refers to which of the following ?

a.  Man can work better than women.

b.  Medical test can determine the work to be done by men and women.
c.  Culture determines the type of work.

Codes :

(1) Onlyais true.

(2) Only aand b are true.

(3) Onlyaand c are true.

(4) Only bis true.
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38.

39.

40.

41.

42.

43.

IRA A T SOFT a9 @ TR T Sl TR 3T i 2

(1) 1971 (2) 1981
(3) 1991 (4) 2001
=1 5 @ B T w1 anfore faies T8 & 2

(1) ¥ Faee

(2) ST S

(3) T=ITTeRT HETE

(4) < S SAIGRT TAT TS T o e

AMWHYT (A) © TV H 15-49 T T % UH urcal § faf MRS & IR | areifrs
SR & |

& (R) : S I W@ URER HedroT st MiafafE, STRER 3R WHeEsiedt S1am a6
TS T HROT & Tl € |

TN

(1) (A) 3R (R) IHT T&t & T (R), (A) i Tel AR AT ¢ |
(2) (A) 3R (R) I @& €, W (R), (A) Tl el == Féi el € |
(3) (A)TE WR)TEAE |

(4) (A Tod E, W(R) W& & |

frfataa & @ @i 9@ Yo ‘UL gg S el g HEHH (T7 0 T 9t $) § et T2 8 2
(1) FF SH HT E YeE

(2) SR Tafhedrm Faneti & o w59 wife fasra

(3) T SHI I T AT M FeTIar

(4) Tafhcd qaTg qen fafshed g&qelT

frraet Sfaw 31X Sfey =i gRT a9 T Hieel § STOH 37 qegedt =)l i Soleg ohar T &
5 gRT T & Tt QST =ROT Teifed B €, 399§ A 3 gen S | U R §
ST T (FETH W) % SN B TG e aTel R H INTHeT el {631 747 € 2

(1) == e o ufafte = 39

(2) TR aaaTE H feafd 39 Afeaal o A e it A e T8 gen §

(3) oo & =1% 3TaT 39 SR USH STar S A

(4) RIS T STFNT ST SUNT &l HAT

Tefatad B 9 forasr 9oy o 1 folT Teet Segds gRom 9 € 2

a. &Y st | S8R w1 T qohdl & |

b. Fafsweea site & & iR &t wehan ¢ o6 Tou ua Afeernatt & ford forar ST aren s @ g |
C. THT HE H UhR i Ft € |

ETE

(1) FaAaTEE |

(2) FoacTa dXbWIE |

(3) Facta I CcHIE |

(4) FHTAbTEE |
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44,

45.

Violence against women is more in the society where
a.  women are socialised to accept violence

b.  women tolerate violence

c.  women do not accept subjugation

d.  women rationalise violence

(1) Only a, band c are true

(2) Onlyb, candd are true

(3) Onlya, bandd are true

(4) Onlya, candd are true

Assertion (A) : According to some studies, girls who remain longer in schools have
higher age at marriage and delayed pregnancy.

: Education reduces likelihood of child marriage and delays the age at
marriage.

Reason (R)

Codes :

(1) (A)istrue, (R) is true and (R) is explanation of (A).

(2) (A)istrue, (R) is true and (R) is not explanation of (A).
(3) (A)istrue, (R) is false.

(4) (A)is false, (R) is true.

Read the following table and answer questions 46 — 50 :

Statewise changes in Infant Mortality Rate (IMR), Maternal Mortality Ratio (MMR),
Contribution of selected States, percent decline and year of achieving Millennium
Development Goals of 4 and 5.

State IMR % | Expected | Year of MMR % | Expected | Year of
decline IMR in | achieving decline | MMR in | achieving
between 2015 MDG-4 between | 2015by | MDG -5
1990 - (Linear target 1997-2001 | linear | Target of
2010 Method) IMR and method MMR
Level 28 | 2006-09 Level
‘109’
Andhra Pradesh 36.4 45.3 2031 32 101 2014
Bihar / 36.1 47.2 2032 50.8 119 2016
Jharkhand
Kerala 30.6 10.5 1998 46.0 38 2003
Madhya 43.9 525 2025 39.0 199 2022
Pradesh/
Chhattisgarh
Tamil Nadu 57.6 21.2 2009 26.0 77 2007
Uttar Pradesh /| 40.8 53.6 2029 40.8 253 2023
Uttarakhand
West Bengal 54.5 22.1 2012 52.1 35 2010
Source: 1. SRS data 1990-2010.
2. Hanimi Reddy et al 2012. India’s progress towards the Millennium

Paper-II

Development Goals 4 & 5 on Infant and Maternal Mortality. WHO
South-Asia Journal of Public Health 1(3), p. 283 & 285.
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44, wigaraT % g B9 39 GHST § € S8

a. TRt & H WHR FH & ol THiad & |

b. Wi &H %l WeT Kl & |

C. gl vl Wieh Tai il |

d. ooy T i FreFasma T & |

&
(1) Facia, b AR cTIE |
(2) FaTb,c AR AT E |
(3) Facta, b AR AT E |
(4) Faera, c AXdTE |
45, e (A) : FT TEIT & SER, S SRl e B i ety & o W@t €, 5
foreTe ! S5 S=EAT el & o1 o 3T § T YRT Bt € |
FRUT(R) ;3787 & SROT 9167 foame st WreHT | g9 &iaT & a9 [aaesei= S9 o S ¢ |
= A
(1) (A) W E, (R) W g, 3R (R), (A) i T&t AT |
(2) (AT E, (R) Tl &, 3R (R), (A) H Tt =T F6i € |
(3) (A)TE, (R)Tdg |
(4) (A)TEdE, (R) W& T |
frfetfad aiferer @t afew 3K U9t (46-50) T 3T ST
oI 9g <X (SME.UH.3IR,) A Yo X (VWH.UA.3TR), TAd 591 B ATRH, Wide fRiee 3T
TETATST T 18 (TH.ST.ST.)-4 TS 5 i Wit <l 9 :
T 1990-2010 | 2015® | WA=t 4 | 1997-2001 | ¥& Ugfa | THUA AR
FHAT | gt | @ea® | UH2006- | EWT2015 | W@ 109
AETAAN. METAAR, | v 2000% | Hyenw | e
g d | Qe | smETmer. | dM | mnmer | mEss
frae | wgfhy | damos | OEIAR. T
g firmae CL]
EIER 36.4 45.3 2031 32 101 2014
ferEmEs | 36.1 47.2 2032 50.8 119 2016
A 30.6 10.5 1998 46.0 38 2003
e TeeT/ 43.9 52.5 2025 39.0 199 2022
TS
ﬂﬁm 57.6 21.2 2009 26.0 77 2007
I IR 40.8 53.6 2029 40.8 253 2023
IWES
qfvey et | 54.5 22.1 2012 52.1 35 2010
H|d: 1. TEARTE. ST 1990-2010
2. &AM T TR 2012, A U TAEH § MHicEH SaTHe Tod 4 U 5 3
ST U BTl HideTe! | oo, 0. 31, WISY-URTT Sl 311 Ufeeish god-1 (3) : Ot
283 TE 285.
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46.  Which of the following State has achieved maximum percent decline in Infant Morality
between 1990-2010 :
(1) Tamil Nadu
(2) West Bengal
(3) Kerala
(4)  Andhra Pradesh

47. Arrange the following States in ascending order (low to high) according to expected IMR
in 2015 :
I. West Bengal
ii. Kerala
iii.  Bihar/Jharkhand
iv.  Andhra Pradesh

Codes :

(@) i i i v
2 i i iv i
(3) i i i iv
4) iv i i

48.  Which State among the following will reach MDG level of 28 earlier ?
(1) Madhya Pradesh / Jharkhand
(2) Andhra Pradesh
(3) West Bengal
(4) Uttar Pradesh / Uttarakhand

49.  Which among the following State has shown high decline in MMR between1997-2001
and 2006-09 ?
(1) Kerala
(2) West Bengal
(3) Andhra Pradesh
(4) Tamil Nadu

50. Arrange the following States in descending (high to low) order of expected MMR in 2015
by linear method :
I. Tamil Nadu
ii.  Andhra Pradesh
iii.  Bihar / Jharkhand
iv.  Uttar Pradesh / Uttarakhand
Codes :
(G I TT R iv i
2 i v i ii
(3) iv i i i
4) i i v




46.

47.

48.

49.

50.

fr=ferfad o @ fore 59 7 1990-2010 % st 919] 9 H 3tfusham wfaerd st fRree ure & 2
(1) afEeTg

(2) ufvem et

(3) e

(4) 37y U=

fefefiad Tsat 1 2015 W U 312U, 3T, & AR STRE! 3 | Fafed Hie :
i, gEd S

i,

iii. TTERERES
iv. 3Ty W
T

@ i i i v
@ i 0 v i
@) i @i i v
@ v i

feAtetEd & | i 97 59 TH.ST. & TX-28 T Tect g ST 2
(1) 7= RRIRIRES

(2) 3Ty =T

(3) ufvem et

(4) W IRVFWES

frfefaa o 9 fhg T 3 1997-2001 317 2006-2009 & == TH.0H. 3R, § = TR16E 33 € 2
(1) =«

(2) ufvem et

(3) Ty w=wT

(4) dierTg

fFrfeiae ot & WWT TS 51T 2015 H YN THUH.3R. & STeRiEl %A (300 9 =) §
AT BT ;

i areg

i, ety e

iii. fEREREE

iv. S IRI/SIHES
TN

@ i i v i
@ i v i
@) v Qi i
@ 0 i i v




Space For Rough Work



